Pre / Post-Mid Term (40 marks)

Class Eng Hindi Maths Science Social Science
39, Reading : 10 marks Reading : 10 marks MCQ 1x 6 =6 marks MCQ : 1x6 =6 marks MCQ: 1 x 6 = 6marks
4“‘, Writing : 8 marks Grammar : 10 marks | Fill ups:- 1x5=5marks One word answer :  1x4 =4 marks One word answer : 1x 6 =6 marks
5" Grammar : 10 marks | Literature : 12 marks | V.S.A. type ques: 1 x 6 =6 marks V.S.A. type ques: 1x4 =4 mark V.S.A. type ques: 1x5=5marks
Literature : 12 marks | Writing : 8 marks S.A.type ques: 2x3=6marks S.A. type ques: 2 x4 =8 marks S.A.typeques: 2x3=6marks
L.A. type-l ques : 3 x 3 =9 marks Diagrammatical question : 2 x 3 =6 marks Think and answer : 2 x 2 =4 marks
L.A. type-Il ques : 4 x 2 = 8 marks L.A. type ques : 3x2=6marks L.A. type ques : 3x2 =6 marks
Case study: 3 marks Map/Diagramatic/Case study : 4 marks
Comprehension 3 marks Comprehension 3 marks
6", Reading : 10 marks Reading : 10 marks V.S.A. type ques: 1x10=10 marks | MCQ: 1x5 =5 marks MCQ: 1x5 =5 marks
7th, Writing : 8 marks Grammar : 10 marks | S.A. type ques: 2x5=10marks One word answer :  1x5=5 marks One word answer:  1x5=5 marks
g™ Grammar : 10 marks | Literature : 12 marks | L.A. type-l ques: 3 x4 =12 marks V.S.A. type ques: 2x3=6mark V.S.A. type ques: 2x3=6marks
Literature : 12 marks | Writing : 8 marks L.A. type-Il ques : 4 x 2 = 8 marks S.A. type ques: 3x3 =9 marks S.A. type ques : 3 x4 =12 marks
L.A. type ques : 4 x2 =8 marks L.A. type ques : 4 x 2 =8 marks
Diagrammatical question : 4 marks Map / Case study: 4 marks
Case study: 3 marks
Class Computer G.K. (only 3™ & 4™)
3'd, MCQ : % x 6 =3 marks Fill ups : 1x3=3marks
4" Fill ups : % X 6 = 3 marks MCQ : % x 6 =3 marks
5t True/False: % x 6 =3 marks S.A. type ques : 1x5=5marks
Application Based Ques. 1x2 =2 marks Match the following : % x 6 =3 marks
S.A. type ques : 1x3 =3 marks Identify the pictures : 1x3 =3 marks
OR One word answer : 1x3=3
Define the following: 1x3 =3 marks marks
L.A. type ques : 2 x3 =6 marks OR
Passage/Paragraph 3 marks
6", | Fillups: % x 6 = 3 marks
7" | True/False: % x 6 = 3 marks
8" | McQ: % x 6 = 3 marks

Application Based Ques.

S.A. type ques :

OR
Define the following:

L.A. type ques :

1x 2 =2 marks
1 x 3 =3 marks

1 x 3 =3 marks
2 x 3 =6 marks




